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1 106.5.18 % el 1, 600
2 106. 5. 24 R4 R £ 2 6, 000
3 106. 5. 26 B 2 ko g 6, 000
4 106. 6.1 G 3,000
5 106. 6.1 T 1,000
6 106. 6.1 BEF I 1,000
7 106. 6.1 PEFE AR 1,000
8 106. 6.1 R R N N 1,000
9 106. 6. 2 RE¥IEE R VAR 1,000
10 [106.6.2 M R Y IR e 3,000
11 106. 6. 2 = Z AR A 1,000
12 [106.6.2 B2 pa 1,000
13 [106.6.2 Lad s T e RAYH 1,000
14 [106.6.2 LaT kER &Y H 1,000
15 |106.6.5 Frivg @ 1,000
16 [106.6.5 TREER 1,000
17 [106.6.5 Mtk Py 1,000
18 [106.6.5 T3 e wBHERTR 1,000
19 [106.6.5 THEALEG AP 1,000
20 106. 6. 6 P REEF LD 1,000
21 106.6.7 o 1,000
22 [106.6.7 BEHaE 1,000
23  1106.6.7 sa- v 1,000
24 106. 6. 7 Eayga? 3,000
25 1106.6.8 mhREEF AP 2,000
26 1106.6.8 £ 214 1, 200
27 1106.6.8 Wz irivga 1,000
28 106.6.9 Rirgs e 1,000
29 1106.6.9 I 800
30 |106.6.9 ZEERAYFME TR EE 1,000
31 [106.6.12 P oRE RE 2,000
32 [106.6.12 a8 A\=ZqHEG 1,200
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